The Olweus Bullying Prevention Program – K-12 CORE PROGRAM WITH SCANNABLE QUESTIONNAIRE

(Scannable Questionnaire, Schoolwide Guide, Teacher Guide)

Sample print program pricing for an average-sized school (500 students, 30 teachers, 12 Bullying Coordinating Committee Members)

Scannable Questionnaire = \$679.15 (this will be an annual expense)

Cost breakdown:

\$39.95 (packet of 30 surveys)

17 packets of 30 (for 510 surveys) = \$679.15

Schoolwide Guide – one for each member of the Bullying Coordinating Committee = \$948.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$79.00 per Schoolwide Guide

12 Bullying Coordinating Committee Members x \$79.00 = \$948.00

Teacher Guide – one for each teacher = \$1,380.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$46.00 per Teacher Guide

30 Teachers x \$46.00 = \$1,380.00

TOTAL COST = \$3,007.15

The Olweus Bullying Prevention Program – K-12 CORE PROGRAM WITH INTERACTIVE WHITEBOARD QUESTIONNAIRE

(Interactive Whiteboard Questionnaire, Schoolwide Guide, Teacher Guide)

Sample print program pricing for an average-sized school (500 students, 30 teachers, 12 Bullying Coordinating Committee Members)

Interactive Whiteboard Questionnaire = \$586.50 (this will be an annual expense)

Cost breakdown:

\$34.50 (packet of 30 surveys)

17 packets of 30 (for 510 surveys) = \$586.50

Schoolwide Guide – one for each member of the Bullying Coordinating Committee = \$948.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$79.00 per Schoolwide Guide

12 Bullying Coordinating Committee Members x \$79.00 = \$948.00

Teacher Guide – one for each teacher = \$1,380.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$46.00 per Teacher Guide

30 Teachers x \$46.00 = \$1,380.00

TOTAL COST = \$2,914.50

The Olweus Bullying Prevention Program – K-12 CORE PROGRAM WITH ONLINE QUESTIONNAIRE

(Online Questionnaire, Schoolwide Guide, Teacher Guide)

Sample print program pricing for an average-sized school (500 students, 30 teachers, 12 Bullying Coordinating Committee Members)

Online Questionnaire = \$500.00 (this will be an annual expense)

Cost breakdown:

\$1.00 per student

500 students \$1.00 = \$500.00

Schoolwide Guide – one for each member of the Bullying Coordinating Committee = \$948.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$79.00 per Schoolwide Guide

12 Bullying Coordinating Committee Members x \$79.00 = \$948.00

Teacher Guide – one for each teacher = \$1,380.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$46.00 per Teacher Guide

30 Teachers x \$46.00 = \$1,380.00

TOTAL COST = \$2,828.00

The Olweus Bullying Prevention Program – ELEMENTARY SCHOOL SUPPLEMENTAL PROGRAM MATERIALS (Class Meetings and Individual Interventions DVD, Class Meetings That Matter, Bullying Introductory Video for Elementary School, Cyber Bullying for Grades 3-5)
Sample print program pricing for an average-sized school* (500 students, 30 teachers, 12 Bullying Coordinating Committee Members)

Class Meetings and Individual Interventions DVD – one for the school = \$195.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$195.00 per Class Meetings and Individual Interventions DVD

1 copy for the school x \$195.00 = \$195.00

Class Meeting That Matter for Grades K-5 – one for each teacher = \$2,370.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$79.00 per Class Meetings That Matter

30 teachers x \$79.00 = \$2,370.00

Bullying Introductory Video for Elementary School – two for the school = \$238.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$119.00 per DVD

2 copies for the school x \$119.00 = \$238.00

Cyber Bullying for Grades 3-5 – 3 for the school = \$327.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$109.00 per manual

3 copies for the school x \$109.00 = \$327.00

The Olweus Bullying Prevention Program – MIDDLE SCHOOL SUPPLEMENTAL PROGRAM MATERIALS (Class Meetings and Individual Interventions DVD, Class Meetings That Matter, Bullying Introductory Video for Middle School, Cyber Bullying for Grades 6-12)
Sample print program pricing for an average-sized school* (500 students, 30 teachers, 12 Bullying Coordinating Committee Members)

Class Meetings and Individual Interventions DVD – one for the school = \$195.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$195.00 per Class Meetings and Individual Interventions DVD

1 copy for the school x \$195.00 = \$195.00

Class Meeting That Matter for Grades 6-8 – one for each teacher = \$2,070.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$69.00 per Class Meetings That Matter

30 teachers x \$69.00 = \$2,070.00

Bullying Introductory Video for Middle School – two for the school = \$238.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$119.00 per DVD

2 copies for the school x \$119.00 = \$238.00

Cyber Bullying for Grades 6-12 – 3 for the school = \$327.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$109.00 per manual

3 copies for the school x \$109.00 = \$327.00

TOTAL COST = \$2,830.00

The Olweus Bullying Prevention Program – HIGH SCHOOL SUPPLEMENTAL PROGRAM MATERIALS (Class Meetings and Individual Interventions

DVD, Class Meetings That Matter, Cyber Bullying for Grades 6-12)

Sample print program pricing for an average-sized school* (500 students, 30 teachers, 12 Bullying Coordinating Committee Members)

High School Class Meetings and Individual Interventions DVD– one for the school = \$175.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$175.00 per Class Meetings and Individual Interventions DVD

1 copy for the school x \$175.00 = \$175.00

Class Meeting That Matter for Grades 9-12 – one for each teacher = \$2,370.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$79.00 per Class Meetings That Matter

30 teachers x \$79.00 = \$2,370.00

Cyber Bullying for Grades 6-12 – 3 for the school = \$327.00 (except for replacement purchases, this will be a one-time expense)

Cost breakdown:

\$109.00 per manual

3 copies for the school x \$109.00 = \$327.00

TOTAL COST = \$2,872.00

* In this pricing structure, teachers will be sharing materials